[pb/bin width]

*
n

do/de

[pb/bin width]

*
n

do/de

CMS 36.3 fb~! (13 TeV) CMS 36.3 o' (13 TeV)
SOOi —e— Measurement % 8000 —— Measurement
r —— MG5_aMC(0,1,2)+PY8 | = —— MG5_aMC(0,1,2))+PY8
ssol —+ MG5_aMC(0j)+CAS £ 7000p — MG5_aMC(0j)+CAS
L i > S ——— )
o0, —— MiNNLO -.é 60000, MiNNLO
F———_, *; oS S 44
200? XA *9‘:_ 5000F 6:‘#;
— = S %
r [9)
150F = S 4000F $
[ % *
B * 3000F
100" % -
; = 2000F *
50F - -
; 1000f -
[ 50<my< 76 GeV —_— 76 <my < 106 GeV
I | | L P | Ll Ll il
- - 10° 1072 107 100
@q @q
CMS 36.3fb! (13 TeV) 45CMS 36.3 fo~! (13 TeV)
2501 —— Measurement % —— Measurement
—— MG5_aMC(0,1,2j)+PY8 2 40?%! ¢ —— MGS5_aMC(0,1,2))+PY8
— MG5_aMC(0j)+CAS S st j:_ —— MG5_aMC(0j)+CAS
L . = F - N
200, —— MiNNLO g R —— MiINNLO
Ea — 30 —o
i —o—T5 g *9‘:_ [ o #
150 4 3 25t i
& [ s
Bea © 20;
& [ D‘z
1001 b4 i -
- 150 bt
b r ¥
50+ * 10: =
.- [ *
L 5j *
F 106 < mgy < 170 GeV - F 170 < myg <350 GeV -
T Ll Tl Y B N = TN
1072 10" 10° 10-2 10" 10°
®q @q
CMS 36.3 fo~! (13 TeV)
= 7L
5 H —— Measurement
: —— MG5_aMC(0,1,2))+PY8
c 6¢ _+_ .
S =Tt = MG5.aMC(0)+«CAS
‘é sgoiﬂﬁ —— MINNLO
«c f -
S L ==
O 4F
B I i‘?
T T
3r ggé
[ Qg
2; ':g
r %
1k -
r -
[ 350 <my <1000 GeV .,
L. Lal T B e SEPE| "
10-2 107" 10°

Pn



